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(1) ## 31610 + - i&i
(2) #H 0625 % = &

(3) # 4 10111011.101, & -+ & i
(4) ## 1101101.011, & -+ = &t
(5) ## ADE.Bjg & = i i

(1) Change the following decimal numbers to 8-bit two’s complement integers. (6%)
a.-12 b.-101 c. 56

(2) Change the following 8-bit two’s complement numbers to decimal. (6%)
a. 01110111  b. 11111100 c. 11001110

. 7 Multiprogramming =2iF % % 3¢ >3 & pl, p2, p3, p4 = # jobs 4<% ready queue pF
AulE 0,258 %% CPURFFEAAS L 6,374 (10%)
(1) # CPU #rg 2% 2 ¥ AL 521 (T g5z (non-preemptive
shortest-job-first scheduling ) » T 5% FpF & (waiting time ) -
(2) # CPU RILF & 2% VAL FIPE T & Emd 2512 (preemptive
shortest-remaining-time-first scheduling ) » &L 5% FpF & (waiting time ) -

CHET RN X E S 7(6%)
intx = 21;

double y = 6;

double z = 14;

y=x/z

X=55%*y;

. (1) =3} On-line Processing System £2 Real-Time Processing System ? ¢ ez % & & 7 (4%)
(2) w3} DBMS - i #iis¢ 342 £ (Relational Database ) ~ SQL ? 7 i &% i£ % ? (8%)
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. (1) &= - B Process =1 Logical Address Space * -]- #_ 256 bytes ~ &%

8 e Frame Size B]E_ 32 bytes - & % B Process =7 Page Table 4+

b’%‘] » 33 F* Logical Address 210 #f /&=~ Physical Address £_% > ? (i1
PRACE R ) (5%)
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(2) %7 %% & svens 58 514 (A) External Fragmentation (B) Internal Fragmentation
(C) Page Fault (D) Page-table Size (E) Disk-head Seek Time (F) Locality » -/ %
£ F iR F1Z% > Page Size ¥ 4%+ 4%47 ? (5%)

FEENT A kA 2w ¥R 4E 0 (A) Data section (B) Text section (C) Heap

(D) Stack (E) Register values (F) Program counter - (10%)

(1) =/ - @ Process ¢ Threads § & * vkt = 2 9

(2) A7k - 2425513 B Processes 7 vkt L p F g ApF (X2 )7

(3) & UNIX js&™ » k7= fork( ) 4p 4 & 0 Parent/Child Processes 7 wiit = i
NEEAR
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(1) ipconfig /all

(2) ping 127.0.0.1

(3) ping www.mis.ncyu.edu.tw

(4) tracert www.mis.ncyu.edu.tw

Fraos T g e HiE g L (10%)

(1) UDP is based on IP. It is connection-oriented and reliable, but expensive. True or false?

(2) A router with four ports must have a different IP address for each port. But a layer 2
Ethernet switch with 4 ports does not need any IP address. True or false?

(3) Several Internet access systems are asymmetric, e.g. ADSL, with higher downstream
speeds than upstream speeds. In the following, which description is wrong? (A) This is
good for web services at the client side. (B) It is good for a web server. (C) It does not
matter for e-mail. (D) It is bad for videoconferencing.

(4) Which standard is used for specifying the security services of IEEE 802.11 WLAN?
(A) 802.11a (B)802.11b (C)802.11g (D) 802.11i (E)802.11s

(5) Jitteris (A) latency. (B) minimum latency. (C) maximum latency. (D) variability in
latency. (E) variability in throughput.



